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PART - 11 : SCHOLASTIC APTITUDE TEST
(For Student of Class VI
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before you open

the question booklet.

1. Answers are to be given on the same OMR answer
sheet provided for Part -1

3. There are 90 questions in this test. All are

compulsory.

3.  The question numbers 91 to 110 belong o
Mathematics, 111 to 145 pertain to Science and 146
to 180 are on Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with blue / black ball point pen in the OMR
answer sheet.

Since the time allotted for this question paper is sery
limited you should make the best use of it by not
spending too much time on any one question.

th

6. If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

7. Rough work can be done anywhere in the question
booklet but not in the OMR sheet / loose paper.

8. Each correct answer will be awarded one Mark.

9. Please return the OMR Answer sheet only to the
invigilator after the test. You can retain the question
Booklets.

10. English version of the question paper will be
considered as final in case of any dispute arising out
of variation in translated version.

Il. Quote your seven digit Roll number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE
ANSWERING BESEEE



91.

92,

94.

95.

96.

97.

‘e

seflan /| MATHEMATICS

(-2.56x4.2)" = ..
Do 21
3) 10.752 4) -10.752
; : 5
TS U@L~ mb sl gamsd i
HemL_ée b, 30
4 =
1)= 1
5 5
3); 4) 5
_?:_ _1_ _ 3 . 3
(13 x 32) (43+53) = v
32 23
Ve )4
362 462
23 32

+v/0.0000313 661 Loy Siver .

19 0.0056 2) 0.056
3)5.6 4) 56

0,2, 6, 12, 20, 30, -—-a0@OU_L eTstTememTS
SIT 6T 5.

1) 40 2) 48

3) 42 4) 46

(I HTHSTLD euenTIL e6iTmis Glesmea)
QarLiuhn —————— JjeTe 6T CHmel.
)3 2)4

3)2 4) 3

(P&60 5 LaT eTsvor Serfleor

@ flsmsowmer g —————=
1)3 2)5
3)2 4)7
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91.

92

94.

96.

7.

(-2.50 x 4.2)" = cemeeeee.

nao
3) 10.752

2) 1
4) -10.752

Which number should be added to

5

= to get —?
t‘:4 30
-

3

5
3 -

)4

-4

-5
4)—4—

(13 % 32) - (13459 =

14 22
23

3622
23

>

23

2)45

e 2
32

Find the value of ¥0.00003136

1) 0.0056
3) 5.6

0,2, 6,12, 20, 30,
missing number.
1) 40
3) 42

2) 0.056
4) 56

........ . Find the

2) 48
4) 46

How many independent
measurements are needed to

construct a quadrilateral?

1)3
3)2

2)4
4)5

Find the median of the first 5 prime

numbers
1)3
3)2

2) 5
4)7
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98.

99,

100.

101.

102.

103.

104.

UBMTUL S0 X- 261D, y— oy aid
Clouip & Qemsinigmid Lysire) ~——m
1) SlenL§0@sramsvey

2) Qemigs 815 Aaranmsy

3) g Hlysirer]

4) @aunmst sTgiepfbme

B Gesinassar usshissT Sx+2
1M 2x+3 eTerflsh, oy eir

HHDOTE| ————m
1) 3x -1 2) 7x+5
3) 14x + 10 4) 7x + 10

a—@leir eLsiTIRed sy LkiEhL 6T m-@sir
& (D5 6016t @\rL_rhig —————
1) (2a +m) 2) 2+(§ a + m)

diatm H2(a+m)

IOESHSS! uhLD esiiml (P elsn
& (HGev 39. 9hled Elreioremeugy

)12 2) 11
3)13 4) 14
Z=10 ereaflsv, Z° — 3(Z-10) st
Sl ——————

D10 2)7

3)3 4) 1000

eI eenTewflsr eLpsiTafley 6(1h LimiehletT
mmsTeled 6 Lndlsir (160 (5 LkIS
20 stenflsh, ojeuGlaistsr —————

1) 420 2) 240

3) 1680 4) 560

}

33 % Yo @61 LD AUllg QD ————=

1)0.3 2)0.36
3) 0.03 4) 33.3
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98.

99,

100.

101.

102.

104.

The point of intersection of x-axis and
Y-2Xi$ i§ -=meeen
1) Abscissa

3) Origin

2) Ordinate
4) None of these

If the sides of a rectangle are 5x+2
and 2x+3 then its perimeter is --=---
1) 3x -1 ' 2) 7x+5

3)14x + 10 4)7x + 10

The algebraic expression of double
the sum of one third of a and m is -----

Di@at+m)  2)2+(ja+m)
Hia+m 4)2(§a+m)

If the sum of three consecutive
integers is 39, then the second number

1)12 2) 11
3)13 4) 14

If Z=10, then the value of
Z° — 3(Z-10) is —---—-

1) 10 2y7
3)3 4) 1000

If one-third of one-fourth of one-
seventh of a number is 20, then the
number is ------
1) 420

3) 1680

2) 240
4) 560

The decimal form of 33% %% i§ —==n=

1)0.3 2) 0.36
3) 0.03 4)333




106.

107.

108.

109.

Of somay IQHID, UimE &g

Cursss  Qermeuls 1.5% ouflumes

@U_ﬂJI:JU(_BTéﬂ{_r}Q] steefled, 6 murast QasmerorL
; @@L}]ugﬁ@m Curgsn es.750-6@ o e

(i Hlsarmey QUL auflufisir

SEAUTRS

1) Rs.112.5 2) Rs.761.25
3)Rs.11.25 4) Rs.812.5

SO GBI L sl 8% aulty

AHGH ~~—— oy sr@esfisd eystrmy

LOL_MEI S (0.

DS 2) 25

3) 10 4) 20

SpserLaunflsd A-Elsir iy ———m--

4A
X A
. 27A
1)4 2)5
3)6 41
e

(4421 +v5 + V121 = -

N

D1 | 2)2

3)3 4) 4

Qamr@&aiu’L LULGE0 6é&Smenm

(PSOEHTETNTRISET 2 6T6T6T ?

1) 16 2)20
3)24 4) 28
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105.

106.

107.

108.

109.

The tax in a restanrant is 1.5% of the

total bill. A family of 6 members paid
a bill of Rs.750. What is the tax for
their bill amount?

1) Rs.112.5 2) Rs.761.25

3) Rs.11.25 4) Rs.812.5

A sum of money triples itsclf at }i%
per annum over a certain time. Find
the number of years.

s 2) 25

3) 10 4) 20

The value of A in the following is -—----
4 A :

XA
27A
1)4 2)5
3)6 41
Lo e -
14+ 21 + V5 4 V121 = ——emee
\ N
D1 2)2
3)3 4)4

How many triangles are there in this

figure?

Vv

1)16 2)20
3) 24 4) 28




105.

106,

107.

108.

109.

v LD B g A 8 e T T A O R S T

g oo alQHI, ubmE Fger
Glmrrg:agg;. Oxremaullss  1.5% suflwrsl)
Cumiu@ing srefls, 6 [N AL

- GOULSHD Qurgsin e 750-6@ o mrey

SiGhHemmsd Qumiu@Ld eufludlsr

1113 W —
1) Rs.112.5 2) Rs.761.25
. 3)Rs.11.25 4) Rs.812.5
(% GILS L gigararg 8% sl
oigSH0 ———— o etorBamaflsd esirm
LOL rEIsh(gHLD.
s 2) 25
3) 10 4) 20
Spaercumnley A-@lstr iy ———---
T 4A
X A
.27A
1)4 2] &
3)6 ° 41
a4 21 445 + V121 = coorme
wf N
1)1 2)2
3)3 4) 4
Qar@&s0ul L LLGHE 615 56meor

(P& CBTETTBIS 6T o _grems ?

A

1) 16 2) 20
3)24 4) 28
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105.

106,

107.

108.

109.

The tax in a restaurant is 1.5% of the
total bill. A fumily of 6 members paid
a bill of Rs.750. What is the tax for
their bill amount?

1) Rs.112.5 2) Rs.761.25

3) Rs.11.25 4) Rs.812.5

A sum of money triples itscif at 8%
per annum over a certain time. Find
the number of years.

1S 2)25

3) 10 4) 20

The value of A in the following 18 -----—-

4 A
XA
27A
1)4 2)5
36 4) 1
T — :
44+ /21 + V5 + V121 = —nn
N N
1 2)2
3)3 4) 4

How many triangles are there in this

figure?
/\

1)16 2) 20
3) 24 4) 28
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110, 2%?*x (3 = ...
(277 x @39 110. 25 x 3% = ceeeen

64

L} 2= 64 3
81 by e

2 Do 2)3

2

3) - H 2L 2 81
3 64 33 4) =

ainflefwev / SCIENCE

111 5(359_(“}‘5’"@5555}:'“"—_‘— LLBEle Sl 111. If the side of each small cube is 2cm in

g%gg@ﬂm.@mﬂw uGaL 2 Gl srefled length, find the total volume of the cube
ufls seord FSHITSSISIT i Lo6ar in the given figure.
Ll A
« 2Qeid // « 2em . 5
+ +
= k] ¢ t
8 3 £ &
P 7 4 S s |7
v ¢
-2 Qs S
. + 2cm -+
1) 8 Qa.tf° 2) 64 Qiz.15° 1)8 cm’ 2) 64cm’
3) 192 Qa1 4) 32 Qsif° 3) 192 em’ 4) 32cm’

112. @@ safl cusme LSS sageflstt  112. Time period is measured by using a
S|emesGETLD samsALLuGEDg. Nsry simple pendulum. Time period is
geufl emgsilsr fHlenmenit o Hafss 6CH measured once again by increasing the
26T& 601607 0 (oA 2ysma0s GEILD mass of the bob with the same length of
G &AL LA LTSI the pendulum. What is the new time
2y6meveGELD period of the pendulum?

1) Sysmevey CETLD wrmeSisame 1) Time period will not change
2) gimeve] GHID ol eEngl 2) Time period will increase
3) oyemeve] GHILD Gondpg 3) Time period will decrease
4) gjeneus] GHTLD (pge0ie 9B MSs 4) Initially the time period will increase
sty @Gsondng- and then it will decrease.
{13 0 Qe eflstflesT SumTaTal 2i6Tey 113. Connvert 0 Kelvin to Fahrenlaeit.
1) 0°F 2) -459.4'F HOF 2) -459.4°F



114,

115.

116.

117.
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aSlsma e g

i) e HsmeuaNgyssirsm (% Gurmensr
Bukes Qailiwesomp,

i) @iusasHew o srar & Glummeflssr
Gousgeng, wrhmeoma.

i) Qummsflssr 8Ug LGN LOTHMEVMD

iv) Qunsefisar Elevmenuws wormmsump.
GuopsevarLeumoficy el 1)1/ 6T

Diiiwhoud iv . 2) i, ii LMMID iii

3) ii, iii hHmud iv 4) i, iii LOMID iv

S Cosious augan Qem’is K
Brouiu’ Qerergy. 10 Qg5 L5 Hlsv
SASET SYWHSLD (g-6iT iy 9.8 1F/eN)
1) 98 Nm"™ 2) 9800 Nm™
3) 980 Nm? 4)9.8 Nm™

LBl6tT &k 5@ sir Qamiy @evaurg

]

1) Bsramhgin Al @mibuys simmsmL
FHT S5 (H10.

2) Hi&Gymb 2_Gaursssusney
LlsoTeb T 5 & sk LISTLH B ;.

3) WBlstramy wevafufed WBstrasmHit 2 6T ).

4) 2 GoureGlaim eufiGw 1hlstrGesm 11

T umybGurg) st Smi sk
LI6ULE 2_(fT,61Im(aHLD. :

Wlsit mEHmeullsd 2 6rer saa gy smeT
dlersymiitd Quom 6@ Qummeflsrs)
Glgm_meGaCu (BlsoTemm L iosmLwié
Gleinyd Lpemm

1) 2 pmisSlsr elpeod WlsorGearm” b

QU se0.

2) SLG560 epeuid LAGTOSTI L 1D Qymi_tié
Gl g6

3) gner(Hsen eyeuld LhlsirGasrmie id
QLW Qg

4) snng sl elpsotd AlsirGsoTm L LD
oL wF QeFiiige.

114,

116.

117.

Force may change
i) the state of on object

i) the speed of an ohject
i) the shape of un object
iv) the muass of an object
Find the correct statements
in the above
i iiand v
3) ii, iii and iv

2) i, ii and iii
4) i, iit and iv

A rectangular storage tank is filled with
water. The value of g is 9.8m/s’. What is
the pressure at a depth of 10 em?

1)98 Nm* 2) 9800 Nm™

3) 980 Nm™ 4)9.8 Nm™

Which is not related to electro magnet

1) An electro magnet attracts a piece of
iron.

2) Nichrome alloy is used in
electromagnet

3) Electric bell has an electromagnet.

4) Current passing through a metal
produce magnetic field around it.

A neutral object can be charged even
without touching the neutral body with
a charged body. This type of charging
is called

1) Charging by friction

2) Charging by conduction

3) Charging by induction

4) Charging by magnet
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Grsir® Beirae, @ran@ Bsirusuyest
b srell Gevsu Qg Glemsmorinfey
Elsmemr s aUuiin Curs EHeNeT
Wsamflense Spd@AUTC Gerer
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3 H—"
|
_@J o)
3y N~
IHH

| e

-

6p(m, Lomsoarall G g o lpM@ Jmei

2 rer wiisreling o uiindssns
QestrmmeT. jeust A 61661 yeirerlusleolcm b s
pL&s gy rifilss 78 Berqptd 3
DS LD 2_6T6T 6(h Qesususiumaguils
GL &) Beer(pd A yaireflemw SjenLEme.
JISUST Y655 @ OQuuwisd

A ' A

1) 108 2) 20 f
3) 08 {)znﬁ

LTI 6TF 60 SramLED @GLT b
@mg el LwstTu(blem&s-

1) Gsustd 2 Qgm —

3) HenaGaisL 4) PHiSs0

S e, T

8

118.

119.

120.

When two cells, two bulbs and switch
are all connected in series, the electric
circuit can be represented by

1)

3

&— O
[

A student goes for a walk in the park
near her house. She starts from point
‘A’ walks in a rectangular path of
length 7m and breadth 3m. She returns
to the same point ‘A’. What is her

+)

displacement?

A D b 1 > X
Jm ; t
Y

1) 10m 2) 20m

3H0m 4)21 m

What does the odometer of an

automobile measure?

1) Speed ... 2) Distance
3) Velocity -~ .. 4) Acceleration
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123.

124.

125.

126.

. EXAMINATION  gréirp sumTt &emgulisir

FLGET oulp (TibLid
-\1) AXAMINATION

' 2) AIXYWINVYLIION

3) UOITAUIMAXS
[ 3

4 EXAMINATION

Clougdl Ber~Aflwrenfl  Fenwé@nCurg

SIS uTFEmeT  SHMOYME  LPEsUGID

LTS e6ar ?

1 sumysSlsar &g eLpeuddn M
DISVEVG GG S6T.

2) sumy ewsudan miseflsor 2wt Causid,

3) ST eLpRUG e MISH ETHS SletL G 2 siTar
2d1s @en_Glasafl,

4) GLoparenm osmes S

/

————— wryeGurg umiGurEmsT B
Bonddinis  wHEpTG  Honses
LomHELL BysoL .
) SjuHstd

3) Gsuuflsmey

2) L(mLosaT
4) S|LipH
YL G6fl  Lighgl6Ter  Senmaener
CursE 2 galaug! 6751 ?
/) Gampuwih spgut g sman(
2) Qusetwid snanL g
3) sredluld eoamlrrémen(h
4) sauiflssflid soamLgs smer(pl

QuIT(m &N G B &6t BHLfly &Ha.
/1) e 10610

2) LnEHE6T ST

3) Quodled D TEss

4) euln (plsmr_Camei FTm

A fé s+ Cemguin—snu—smiuGe
—> 2 0y+_2 +6F

1) smusr Cursrésau(

2) anTLisiT—smL— B Semen(b

.3) seui-smL— 2L &0

4) sl fé g semev(l

121.

123.

126.

, salt + __2

The image formed by the plane mirror
of the word “EXAMINATION®

1) IXAMIMATION

2) IXVYWINVLION

3) MOITANIMAXE
4) EXAMINATION

Vegetable Briyvani, when cooked, its

aroma spreads nearby surrounding.

This i1s due to

1) The free particles or molecules of gas

2) The high speed of the gaseous
particles or molecules.

3) Tne large space between them.

4) All the above.

On varying the ——-- , the matter will
change from one state to another.

1) pressure 2) volume

3) temperature 4) density

Which is used as a stain remover in
clothing?

1) Sodium Hydroxide

2) Magnesium Hydroxide

3) Calcium Hydroxide

4) Aluminium Hydroxide

Find the odd one out:-

1) Litmus

2) Turmeric powder

3) Methyl Orange

4) Red cabbage juice

Citric acid + Sodium bicarbunate —»
-- water {
1) Carbon monoxide

2) Carbon di oxide

3) Sulphur di oxide

4) Nitric oxide




127

s 1t

128.

129.

130.

131.

10

G]UL':GIIFFQHL:EI.II' ’ n;ig;. S S ATEnaS 127
Seutg uwsTuUBIGEeomn stemr EHh TS
QQGE—'WQJ SiesEeflsgsiergy) ?
] urrl..lusnrrrai.) 2) Sl sorms
3) THGEATH - 4) Qg g eermed
éggéaassu'nn_mg']@js'rr g @eosmdHmer 128,
lét,gg?]u_uh CasmeuarL geflod gy @ ?
N s1ESETSD 2) smedluld
3) sl 4) Gampwid
STOUTAIGST  womln  eflokigsst e 129,
geafllomisearmed 2 (6L EM6L
HeflumsEhL 6. 9o 550I58mS0
UGS
ey, uoufllOGigET Feaisn
a)  Spéeflasr Q) 18%
b) @miuer ii) 10%
c) L IrenedT i) 63% -
d)  smamLyestr ivy 3%
Da-iii b-i c—iv d-ii
Na—iii b-iv c—ii d-i
3a—ii b-jii ec—-iv d-i
Ha-ii b-iv c-i d-—ii
1Rss Sfku pierafled 9 6ToT ISTmIGHHEDET 130.
——— asorm Sjenedled GALIGACHTLD.
‘.l) ]_{]'ljm : 2) IU‘H:II]
3)10"'m 4)10"’m
FIfIT6TT S HMISEDET Ca BB 131.

i) sréiTLfistroumis EliesT Croi Ganmtg s
(@it 6T 6T

ii) TN LAsETEUMLIS sdliesT Chiblsgamio
QuDmEmeY.

iif) srimilaiTeumiis sdliesT Hlenm LoMLD

Bwdbs JHHmgimLL &l
BT TS S FTEDEL. ;
iv) arg,]ﬁlﬁ]s&rmnﬁié: &Qﬁaisi'r. emr_shsurruj
aEi s sTETMILD DS SILBERDG).
‘1) i & ii 2) iii & iv
3)i&iv 4)i & iii

b SR AL . S i e s D e T S

Which alcohol is allowed recently by
the central government, to be mixed
with petrol and used.

1) Propanol 2) Butanol

3) Ethanol d) Methanol

Find the zero valent element from the

following. 4
1) Zinc 2) Calcium

3) Helium 4) Sodium

Both plants and animals are made from
a few elements. Match the elements
with their percentage.

a)  Oxygen i) 18%

by Carbon i) 10%

¢) Nitrogen iii) 65% |
d) Hydrogen iv) 3% |
a-iii b-i c—iv d-i

da—iii b-iv c—ii d-i
3a-ii b-iii c—-iv d-i '
$)a—ii b-iv c—i d-ii

Atoms which are extremely small in
size are expressed in terms of ---——--

1) 107m 2) 10" m

3) 10" 'm 4) 10" m

Choose the correct statements,
i) The cathode rays travelin
straight lines.
ii) The cathode rays are positively
charged particles.
ii1) Cathode rays are made up of small
particles that have mass and kinetic
energy.
iv) The cathode rays are otherwise
called canal rays.
1)i&ii 2)iii & iv
Ni&kiv 4) i & iii
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132. 26 :gg,ﬂsfﬁgsur ‘9{@' mﬁ]_-ﬂ'_"m @Uﬂ"’:‘@ 132, What is the ratio of mass of a water
(‘g’—;ﬁn‘jﬁgg @{@Hﬁ;"}&m _(35”_55.5 %rr sT6UT compound, which is made up of one
5 1 ?JZ Hewy efldlg b ersireor ? oxygen atom and two hydrogen atoms?
) 1: 2)8:1 Hi1:2 2)8:1
3)1:8 +)2:1 3)1:8 4)2:1
133. é——— usmry,e_'r,. g,@ﬁurrsar.rrmmﬁ, Q-Hﬂ@éf 133, ——- is used as antiseptic and absorbent
LT(G6TT&;64L0 Lo SGI6LL06mET & erfleb bandage in the hospital.
U“JEE'TU(B_@,GJ@J- _ 1) Peatmoss 2) Riccia
0 ‘SLL?“:m} 3 'f]g"'ﬂ‘fm 3) Anthoceros 4) Sphagnurii
3) 9 k5CaTdCmey  4) suurdeid '
134, seupner @omraiug CoifEsGasau, 134. Choose the incorrect pair.
0 Qgﬂf_'ﬂuq_ﬁ;ﬂ HEean 0 —&5 5/ 1) Sprinkler irrigation - Brinjal
2) SRR RIS | =STog 2) Furrew irrigation — Banana
3) G,@g’@ .@”.U%‘WL“. = @Eﬁul 3) Basin irrigation - Paddy
4) e B Fif Lneand — Symsns 4) Drip irrigation - Grapes
135. &1 Ggemaudsi Sjgtuentullsy 135, Who classified the plants on the basis of
STCUTTRISHED6T sUEDSLILGIE ShLieur wirit ? their water requirement?
1) WemL ik .2) eurm bl 1) Fleming b) Warming
3) Lmellsar 4) GluostorL.60 3) Darwin d) Mendal
136; = sanHllyss  SHeogGsrdymi 136, ------ invented crescograph  which
s(hedl PRIl SIS EHSE 2 6wTisy showed that plants have feelings.
2 swor(H sreaTugy Qe auks 5. 1) Aristotle
1) @uflsiom igsd 2) Carolous Linneaus
,2) &Gymeust sSlsirGeorieny 3) J.C.Bose
3) J.C.Gumsiv 4) Hippocrates
4) efIGUr L ig 67
137, srefluksafalwmEg GCasoawpdm 137, The process by which the chaff is
LG Hsow BE L Hapafar Quuwr scparated from the whole grain is
1) SmSSH60 called
2) arHfled SIS 1) Cutting
4 o : 5
3) gimessmL Claigen 2) Winnowing
4) HEIT g &S0 3) Harvesting
' 4) Threshing
138. auismrriigsT Omid sureaflsussit 138. - are used in the manufacturing of
————— aSlmigl swrflésiupidis mer. paints and varnishes.
1) smeGesmGumgwin Glumg. i) Lycopodium powder
2) wnierSle8lum 2) Marselia

3) LGl s
4) Qyflsarern

3) Dryopterics
4) Resins




139. &t fomed syind) gysmiogisirem @) Lb

140.

141.

142.

143.

1) AgifresHer Gudpib
2) Gswsdler Godiymid

3) samsmrwg St CLosbumid
4) ewpsosrullsir GLosbLmid

Spenlp GurGUTCrerSlsiy eTetrLig)

1) sTuubLssT 2 gBuine @ ms s

2) STRIDLSET 2 L 1D G563 6oL
Qe meaim_sre @)@t

3) smasst 2 midurs @ms @1

4) ss&sT uginilphs EHaHED

smeul_L Lflelr &ff @il ofaons 2 srang
) Cufame

2) 2_(msmen &l

3) (pewersiigul LUTIMIIENS S 6T
4) &y

‘Giduralsr  upspeusfiger Tyl
SyeoLpdsULGHILGUIT

1) aup=omusir S50 el

2) geltn )65

3) (&g 360

4) (Nsrosuiomis (Neroaumsn

LSUILE SSISEO6HT Grrée&sin

1) 2_ewreyls QUITHET &6 afssrmeusms s
&PDSS

2) o_swoTayL] QurrstasifleT Em, senel
LommiLh @en” LU QuUIT(m 6T SEMET
{@wsdLImenT Hlemeoufl GGl
DRBBGHH. |

3) LmGstefium Lo soeuyerSlsar
i SHsMSS60.

i o o &, i tomayh i Heuy)

2) i LHmd i g, iii Heum

3) i, ii, iii eLpEITILD &ifl

4y i, ii, iii eyeiTud 0!

140.

141.

142.

143.

Supra renal glands are located

1) on the top of kidneys
2) on the top of heart

3) on the top of pancreas
4) on the top of brain

Osteoporosis is a condition in which

1) the bones become stronger
2) the bones become brittle
3) muscles become stronger
4) muscles become weaker

Vitamin C is abundantly found in

1) Dates

2) Potato

3) Bean sprouts
4) Carrot

Who is called “The Bird man of
India™?

1) Humayun Abdul Ali

2) Salim Al

3) Mohammed Ali

4) Biswamoy Biswas

The purpose of food preservation is to

i) prevent food from spoilage

ii) retain the colour, taste and nutritive
value of the food.

iii) enhance the growth of bacteria and

virus

1) only (i) is correct both ii & iii are
wrong.

2) Both i and ii are correct iii is wrong

3) i, ii & 1ii are correct

4) i, ii & iii are wrong




144, Gurmgs

145.

146.

147.

a)  UTe UMEET iy 32
b) flemess i) 12
L6t
¢) Qe @ i) 20
UM& 6T
d) dsrsLamid  iv) 8
LIf) & 6ir
a-iii b-i c¢—ii d-iv
2)a-—i b-iii c¢c—-iv d-ii
3a-iii b-i c—iv d-ii
4ya-it  b-iii ¢c-iv d-i
gfls oemesy gds gl

2 L GiamsuorLmsd syhLit Grmis
1) 2 L &b ugpLoedr
3) ssma&susdl

2) L Ounsmen
4) ¢prus Lmd)

145.

Match the following:

a)  Milk teeth i) 32
b) Permanent i) 12
teeth

¢) Incisors iti) 20

d) Molars iv) 8
Ia-iii b-i c¢-ii d-iv
2)a-i  b-iii c—iv d-ii
J)a—iti b-i c-iv d-ii
4)a-ii b-iii c-iv d-i

Fast food, if taken in large quantities
on a regular basis can cause

1) obesity 2) short sight

3) muscular pain  4) memory loss

geps gifleflwed / SOCIAL SCIENCE

QUTEEESTHMSS 6HTECS (DG &mLD.

1).(Wp&SavaurT 2 sulid
2) ssurr Gamusled
3) BiraSevsuyt Gamuflsd
4) HsLisuGsarervsunt GemuTle
QL & G-
a)  S(mLoumsuf i) EuNEAGS
eyl
b) @rreCurs ii) &hs uflns
¢) ONsHefymsy i) yeuGeegeut
TGaT !
d) ebibisme iv) BASTBIT
Camufish LB SHENED
&L&LD
a-i b-ii c-iv d—iii
2a-ii b-iii c-iv d-i
3)a-iv b-i c—ii d-iil
$)a-i b-iv c—ii d-ii

146.

147.

Find the odd one out.

1) Muktheeswara Temple

2) Aivar Koil

3) Brahadeeswara Temple

4) Thirubhuvaneswara Temple

Match the following :

a) Dharmapala i)  Sanskrit
College
b) Rajabhoja ii)) Chand Bardai
¢) Prithiviraj ili) Bhubaneshwar
Raso
d) Linga Raja iv) Nalanda
Temple University
1)a—-1 b-ii c-iv d-iii
2)a—ii b-iii c—iv d-i
3)a—iv b-i c—ii d-iii
4)a-i b-iv c-ii d-iii



148.

149,

151.

152.

153

Q&UH hiTeuuT
Sflpalin@ s Swei ser
) uryEsiser 2) oGqikuressr
3) sImSHwi s 4) &E0HITSHT &6

Yenmsomu

Smagemr  Copaugmur oL EE  sTG SR
SULUULL Gamuiles st ?

1) Gemuomprs T Gamulle

2) meranrgt Gamuila

3} el Lsvamdl Casmuilsy

4) ameaqm grusmil Camils

QuTHESs
a) gendlgren iy dJdasr
b) wrefl&saureaT i) @omoafly
LOITE07 610
¢) [@gmomepend iii) SHEmaumesn -
d) & iv) 6MESTOTELLD
I)a-iii b-ii c—iv d-i
2)ya—iv  b-i c~ii d-iii
3a—ii b-iii e—-iv d-i
A)a—i b—iii c—iv d-ii
“Wiretr arfll’ 6T6aT(D)! LOS 6T IT6D
Lestpltu L gurt wimit ?
1) (ol @uusss gimedesr
2) ufipm L
3) piTan it 2y suurL e
4) iy’ 1w GimelieeT

Curidaddu  uwenfl  aumauGHTL SMmaTsnea
aurGsubgy 2 usfiés Qb weramt

1) @moshEly CoRT
2) flmimearm i
3) oot

4) gmwoflesr

HTEETElET Hevaumind Al ‘
) 2 evgns Gegr  2) ApgAOTET
3) Byyed urEe 4) smeirGesor

148.

149,

150.

151,

153

Copper currency system was introduced
by the -------=-
1) Persians

3) Turks

2) Arabs
4) Sultans

Which temple was constructed during
the reign of Krishna Deva Raya?
1) Somnath Temple

2) Kailasanatha Temple

3) Vittalaswami Temple

4) Hazara Ramaswami Temple

Match the following :

a) Tulsidas i) Bijaka
b) Manikavasagar it}  Ramcharit
manas

¢) Ramanuja iii} Tiruvasagam
d) Kabir iv) Vaishnavism

Da—iii b—-ii c¢—iv d-i

2Ja—iv b-i e—ii d-iii
JYa—ii b-iii ec—-iv d-i
4)a—i b-—iii c—iv d-ii

Who was known as ‘Meeran Shabib’?
1) The sufi saints

2) Saint Mirabai

3) Saint Nagore Andavar

4) Maharastra saints

Which Indian king gave warm welcome |
to portuguese sailor Vasco-Da-Gama? |
1) Ramachandra deva

2) Singhana

3) Jahangir

4) Zamorin

The Chief architect of Tajmahal was —--
1) Ustad Isa 2) Shah Jahan
3) Abul Fazal 4) Tansen




158,

159.

15

Sumyea Geumsiog riygfy SOSHSSTAR  gTreT
a6l Bysergene Sius i gy et ()

1) &.9.1780 2) &.9.1781

3) #.19.1785 4) £.19.1786

ST oy (g
SOTIWGDS Auiflgg @I th ———

1) et 2) mangrmung
3) &ltisom 4) 5608 G

SY&sToTL_umiley .
CaitQsHésnn.
1) Qimear Cam_ e, unsaus,
Lrmenr 6m5 umyde Qumflis Gmf
Guwr g .

2) QusuTEsy, @rmomusterid LMD
USTUTTBSMS UMTes QomHufle
Glomfl Quwr &g

3) gusnGestr, g&bufler gsmaismu
Jnsfss Gama epmef LYY

4) euiomusir, @MTgSsmer ersirm
CQsmpms @hnsms st iy e,

1) i, ii

3) iii, iv

. &iflwmesr & MHsom

Hemsowrer Hevsufl L Ssms smyaraimsfe
5L (pser (el YyflpaiuBssu ug S
1) suruamemio 2) GlFeransor

3) Q_cvedl 4) amgrTuns

@rmeusSriest srusds Caruld alipl &
sl dplurer  dTOSHES snLns
laLpeug). _

) Hlevsumyr Gamullsh

2) st_maeny Commufled

3) oy ulrib Geder Speolith

4) 61681 LigtnT LT (56085 &Eebmusley

‘B el penmenw

S pHILB S Ewisur wr ?

) QU 2) emLomi,em
3) pamnrudi '4) ersammedr

154.

ST 155,

156.

157.

3) Delhi

158.

The Caleutta Madarasa w
Warren Hastings in ceeeeeee
1) 1780 A.D 2) 1781 A.D
3) 1785 A.D 4) 1786 A.D

as founded by

Lord Cornwallis ¢reated Commissioner
of Police office at ~—eecemee.

1) Bihar 2) Hyderabad

3) Simla 4) Calcutta

Which among the following statements

are true?

1) Raja Todar Mall translated
Bhagavata Purana into
Persian language.

2) Abul Fazal translated Ramayana and
Mahabaratha into persian language.

3) Tansen was a great musician in
Akbar’s court.

4) Humayun constructed a building
known as Ibadat Khana.

1) i, ii

3) i, iv

4) i, iii

Lord Cornwallis introduced Permanent
Settlement Act initially at

1) Bengal -2) Chennai

.4) Hvderabad

The fine specimen of temple architecture
during Rajputs period is

1) Dilwara temple -

2) Shore temple

3) Thousand pillar:temple

4) Elephanta cave temple :

o

"
Who introduced tHe ‘Chain of Justice’?

1) Akbar 2) Humayun
3) Jahangir 4) Shah Jahan
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160.

161.

162.

163.

164.

165.

Qegiogrefiedr sesumm Smubgsrar Gt
1) SyorGsm- 2) gD
3) Qsvebl 8y gy

Lmﬁluﬂam' CuGmmigs WeslGufiuaralnE
Qeni@sa maiey goubeass @6unmg
SienpSHGOTLD.

1) Guosh susmemsy

2) &1 aueneTey

3) enfiGrmllzsfle pemeay

4) BWITES HETa)

‘flor’ ey sLolp Cuban® @amore
DL TTED6L

1) AsllGam Lhmuid Loredilieerd

2) el am wmud Cuuseafdlun

3) eSS WHLD LM ThIg6 &

4) fef\ser wnmth GuossL el

usTar  @srmy e @mis  erfiusme
saemrU LD G Lh

1) oS nGeet

2) gymewrrEge LTCsaELD

3) SyfbgLomer

4) g AfiGeT

QUITHSSIS:
a) ustd i) UGrels
b) LERSD i) uSE

QLEISL S
) M58 iii) @5CsrGaTadum
d) efwrus iv)  edGresim
AL

1ya—iv b—iii c—ii d-i

2)a—iv b-iii e-i d-ii

3)a—ii b—iv ec-i d-ii

4)a=i b-Iv c—iii d-ii

uwieSlsir aHT ===~ G-

B &L CoonmL UGS

2) Qeupfi- - o

3) 2 wif Bi(PHS LTI

4) g@m@gjg LOGUOTL_6ULD
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160.

161.

162.

163.

164.

165.

Shershah Mausoleum is located at -—---
1) Amarkot 2) Sasaram
3) Delhi 4) Agra

Large scale vertical movements of the .
earth’s crust are called ----- movements.

1) Anticlines

2) Synclines

3) Epirogenic

4) Orogenic

The Oceanic crust ‘SIMA’ is made up of |
1) Silica and Molybdenum :
2) Silica and Magnesium
3) Silica and Manganese
4) Silica and Magdalium

The extinct volcanoes of Panaka Hills |
are found at !
1) Andhra Pradesh

2) Arunachal Pradesh
3) Andaman

4) Africa

Match the following :

a) Bush Fire i) Brazil !
b) Famine i) Pacific Ocean | |
¢) Forest fire iii) Indonesia
d) Trade iv) Australia
winds 4
)a—iv b-iii c¢—ii d-i _:
Da—iv. b-iii c-i d-ii | 4
3Ja—ii b-iv e-i d-ii
4)a—i b-iv c—iii d~ii |

The eye of a cyclone is a ~~------
1) Coastal area .
2) Vacuum area |
3) High Pressure area

4) Low pressure area



166.

167.

168.

169.

170.

171

172.

Y73,

g« Bk - et g A s

i, b R o e A e AR T

@55]9“&5166 IiHs sumu Crifey LeTLsoh
L '-76‘5‘_7” o 2) e

3) SybSLomser 4) sllprT

SHEUSET  WONKD  mereTGsT  @Hmifld

ClaraTEmeug) Olansrar sréafldme
1) stifleney GClang iy

2) Liwied

3) fHsu&adlay

2) BosGéen

Caagrat flsGH @nig srariu@ang).
1) Qgeir &S GuEmrhisL s

2) su udSl& GugpisL

3) oyedrL g & GUmHHISL 6

4) o’ sunesiigds CUEBRIGL 6

o ufifl eTNGILITE6IT 6TEHEUNS
SrouySHilmEg) 2 GarEng ?
1) Caullemsn, SmiLl :

2) up s, ZEuuT60

3) &(HLL, %mm“ras@';

4) Qmed, Cangento

spsrfl q@w gesrento Glament BrgL.
1) g,saqm 2) HESHSLD
3) geuGlusILTED 4) oL a&Ir

Q@mfhuT Slsm LS
(P60 sTAGUT(HSIT

1) G’ GeSluwsis

2) B&8T sTeTOlTTIL

_3) flméel

4) @urhens srfiemy

@lemeu o Consnny  Seflo QUMGEDILIE

FIHSSTED '
1) Qay 2) eneunin .

3) LTSI g GLod saTemi_L
QgmLikgl 2 (eSS G&nmq@&@m Lo6zaT
1) siflasd Loesr 49 Qg LDLosTaT

3) GremeT LOGTT 4) 6U6TITL.6D LD6TOT

166.

167.

168.

169.

170.

171.

172.

173.

High Damage Risk Zone in India is
1) Bihar 2) Punjab
3) Andaman 4) Tamil Nadu

When the doors and windows become
tightened, it is a warning signal of

1) Volcanic Eruptions
2) Cyclones

3) Landslides

4) Earth Quakes

The Challenger Deep is a Trench
found in -——---

1) South Pacific Ocean

2) North Pacific Ocean

3) Antarctic Ocean

4) Atlantic Ocean

From which one of the following crops,
bio fuels are produced?

1) Tea and coffee

2) Cotton and Jute

3) Sugarcane and Jetropha

4) Paddy and wheat

The mineral which allows light to pass
through is
1) Tin

3) Asbestos

2) Sulphur
4) Mica

The first fuel which caused the
Industrial Revolution is

1) Petroleum

2) Crude oil

3) Coal

4) Natural Gas

This is a non-metallic mineral

1) Copper 2) Dmmond
3) Bauxite 4) Magnetite |

The soil which replenishes
continuously is
1) Black soil

3) Sandy Soil

2) Red soil
4) Alluvial Soil



174.

175.

176.

177.

178.

179.

18
weir GafiiEg 2 mmnuh Geuiuflme
1)s’C
2)6" C
3)4'C
4)8'C
QurEheTs @neurenws Coih Q5 B&Sb.
1) BHEL - Smsd
2) SAIL - Casuid
3) TAMIN - &) ST S LTLD
4) TISCO - spmoGeg LT
G eSS el seall o_fenwuilsr
@aseﬁlu_rg,g.jsug,smg_, ggﬁjeﬁ(ﬂmmﬁ
srusHtatu st ssmuusl THSSIMTEHS
Sigsmer  QupISHETS SymBuUTGUCL
Seneosut
1) prepmymb GLom s sarymi
2) L&LIT s &l(msipeuersir
3) Carume S(peiser o
4) slmioeotiu Ly ST
i @'r_i;g,]u_lrmﬁsir J|EVIELIENES @ enemoriL]
QumflumEio
1) el )sfly
3) sLELEHSLD 4) Symilson
ST g 60T ,g)J,Lhums&Tﬁfﬁ Qanaufsir o gefl
6T 60T
1) 100 2) 101
3) 103 4}.-108

Gl weflS o flenLogsT &bmmmg;ﬂm
g,g;(ﬁurrmg.w essmsumrr
)b 5gGmg,g,u LImeD

2 BBUBE 60550
3) EHUB.LTEL. Ga.@ymosmi

4) EHuS.M.ursHlom el

174.

175.

176.

177.

178.

179.

The soil gets cold and condensed when
the temperature falls below

1)5'C

2)6" C

3)4°C

4) 8'C

Choose the incorrect pair:

1) BHEL - Trichy

2) SAIL - Salem

3) TAMIN - Tiruvananthapuram |
4) TISCO - Jamshedpur

Name the leader who demanded the:
Right to Education for Indian Children
in the Imperial Legislative Assembly.

1) Rajaram Mohan Roy
2) Dr. Radhakrishnan |
3) Gopala Krishna Gokhale !
4) Subramaniya Bharathiyar

—eee—— has been declared as an official
link language.
1) Hindi

3) Sanskrit

2) Tamil

4) English
The Helpline number of Ambulance |
service in Tamilnadu is g
2) 101 |
4) 108 'f

1) 100
3) 103 ,
i
Who is the chairperson of the National j
Human Rights Commission at present? |
1) Shri Satyendra Paul .
2) Shri.Justice H.L.Dattu j
3) Justice Dr.K.Ramaswamy
4) Justice Ms.M.Fathima Beevi {



180. Gurmsgis:
a) lg&wour 10

b) &GLmUT 24
¢) gmmeu 11
d) Gelibur 8
Ya—ii b-iv
.2)a—iv b-iii

3)a—-iv b-i
4)a—iv b-i

i)  onmdend

i) 208 wsese
Qarens
&lsarid

i) 268
TWESMHeY
&lsarid

iv) weflg
2 _flemasger
glewrin

c—i d-iii
c—1 d-ii
c—iii d-ii
c—ii d—iii

180. Match the following :

a) 10"
December

by 24"
October

¢) 1™ July

a 8"
September
l)a—ii b—iv
2)a—iv  b—iii
3)a—-iv b-i
4ya-iv b-—i

i)  UNO day

i) World
Population
Day

iii) World
Literacy Day

iv) Human
Rights Day

c—1  d-iii
c—i1 d-ii
c—iii d-ii
c—ii d-iii
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